

BID2022-29 FURNISH AND DELIVERY F.O.B. OF MUELLER BRASS WATER SERVICE FITTINGS FOR THE DEPARTMENT OF WATER - BID OPENING MARCH 17, 2022 AT 11:00AM			
NUMBER OF RESPONDENTS:	3		
NAME OF BIDDER	RARITAN GROUP, INC	FERGUSON ENT, LLC	BRENT MATERIAL COMPANY
ADDRESS	301 MEADOW ROAD	190 OBERLIN AVE. N	325 COLUMBIA TURNPIKE SUITE 308
CITY, STATE, ZIP	EDISON, NJ 08817	LAKEWOOD, NJ 08701	FLORHAM PARK, NJ 07932
CONTACT NAME	JAMES F. RICHARDSON	JOHN MASTROGIOVANNI	LINDA GARDNER
TELEPHONE	732-985-5000	732-901-5458	973-325-3030
FAX	732-985-5002	732-202-5707	973-325-7360
E-MAIL	MIRO@RARITANGROUP.COM	JOHN.MASTROGIOVANNI@FERGUSON.COM	LINDA@BRENTMATERIAL.COM
STATEMENT OF OWNERSHIP DISCLOSURE	INCLUDED	INCLUDED	INCLUDED
DISCLOSURE OF INVESTED ACTIVITIES IN IRAN	INCLUDED	INCLUDED	INCLUDED
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA	INCLUDED	INCLUDED	INCLUDED
REQUIRED EVIDENCE AFFIRMATIVE ACTION REGULATIONS QUESTIONAIRE	INCLUDED	INCLUDED	INCLUDED
NON-COLLUSION AFFIDAVIT	INCLUDED	INCLUDED	INCLUDED
AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED	INCLUDED	INCLUDED
NJ BUSINESS REGISTRATION CERTIFICATE FOR CONTRACTOR	INCLUDED	INCLUDED	INCLUDED
EIC	CERT# 396661 EXP:4/15/2024	CER#33467 EXP: 1/15/2026	CERT#10438 EXP: 4/15/2027
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY EXHIBIT A	INCLUDED	INCLUDED	INCLUDED
DEBARMENT NOTICE	INCLUDED	INCLUDED	INCLUDED
ETHICS COMPLAINT DISCLOSURE	INCLUDED	INCLUDED	INCLUDED
CERTIFICATE OF INSURANCE	REQUIRED FROM AWARDED BIDDER	REQUIRED FROM AWARDED BIDDER	REQUIRED FROM AWARDED BIDDER
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED	INCLUDED
60-DAY EXTENSION COMPLIANCE	YES	YES	YES
COMPLIANCE WITH EMERGENCY SERVICES	YES	YES	YES
THREE (3) REFERENCES	INCLUDED	INCLUDED	INCLUDED
W-9	REQUIRED FROM AWARDED BIDDER	REQUIRED FROM AWARDED BIDDER	REQUIRED FROM AWARDED BIDDER
TOTAL AMOUNT FOR ITEMS#1-87	\$329,291.60 SEE ATTACHED BREAKDOWN OF UNIT PRICING	\$334,939.19 SEE ATTACHED BREAKDOWN OF UNIT PRICING	\$353,207.75 SEE ATTACHED BREAKDOWN OF UNIT PRICING
EXCEPTIONS (IF ANY)	NONE	NONE	NONE
FATAL FLAW	NONE	NONE	NONE

Kaitlin Gray

Trenton Water Works
Construction & Maintenance Office

①

Fiscal Year 2022 – Mueller Brass Water Service Fittings Contract

PROPOSAL:

The undersigned proposes to furnish and deliver Mueller Brass Water Service Fittings materials in the requested quantities as needed (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Cortland Street Yard at 333 Cortland Street, Trenton NJ. No Substitute.

MUELLER BRASS WATER SERVICE FITTINGS BID PROPOSAL:

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
1	H10283N	3/4" Mueller Mark II Oriseal Curb Valve F.I.P. thread - both ends; Quarter turn check	each	10	15.39	153.90
2	H10283N	1" Mueller Mark II Oriseal Curb Valve F.I.P. thread - both ends; Quarter turn check	each	800	111.00	88,800.00
3	H15406N	1" Straight Union - Mueller Insta-tite Connection for CTS O.D. PE tubing-both ends	each	40	26.84	1,073.60
4	H15406N	3/4" Straight Union - Mueller Insta-tite Connection for CTS O.D. PE tubing-both ends	each	10	23.38	233.80
5	Brass	3/4" x 3" Brass nipple	each	25	3.20	81.50
6	Brass	3/4" x 4" Brass nipple	each	25	4.20	105.50
7	Brass	3/4" x 5" Brass nipple	each	10	5.43	54.30
8	Brass	3/4" x 6" Brass nipple	each	10	6.00	60.00
9	Brass	1" x 3" Brass nipple	each	25	4.73	118.25
10	Brass	1" x 4" Brass nipple	each	25	6.17	154.25
11	Brass	1" x 5" Brass nipple	each	25	7.00	190.00
12	Brass	1" x 6" Brass nipple	each	20	9.04	192.80
13	Brass	3/4" Brass Street 90°	each	60	5.04	302.40
14	Brass	1" Brass Street 90°	each	100	8.35	835.00
15	Brass	3/4" Brass Street 45°	each	10	5.35	53.50
16	Brass	1" Brass Street 45°	each	15	8.87	133.05
17	Brass	3/4" Brass Elbow 90°	each	25	3.88	97.00
18	Brass	1" Brass Elbow 90°	each	15	6.34	95.10
19	Brass	3/4" Brass Elbow 45°	each	6	4.12	24.72
20	Brass	1" Brass Elbow 45°	each	6	6.94	41.64
21	Brass	3/4" Brass coupling	each	25	3.13	78.25
22	Brass	1" Brass coupling	each	50	4.77	238.50

Ronald Grop

Trenton Water Works
Construction & Maintenance Office

Fiscal Year 2022 - Mueller Brass Water Service Fittings Contract

MUELLER BRASS WATER SERVICE FITTINGS BID PROPOSAL (Continued):

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
23	Brass	1-1/2" X 1" Brass Couplings	each	5	13.60	67.80
24	Brass	1" male X 3/4" female Brass Bushing (Hex Bushings)	each	250	3.14	785.00
25	Brass	1-1/4" female x 2" male Brass Bushing	each	4	5.68	22.72
26	Brass	1-1/2" female x 2" male Brass Bushing	each	5	12.93	64.65
27	Brass	1-1/4" female x 1" female Brass coupling	each	4	10.74	42.96
28	Brass	2" X 1" Brass Bushing	each	4	10.74	42.96
29	Brass	1-1/2" female x 1" female Brass coupling	each	4	13.50	54.24
30	H15075N	3/4" Eighth bend coupling Mueller 110 Conductive Compression Connection for CTS O.D. tubing x swivel nut with female copper thread	each	750	54.04	40,980.00
31	H15075N	1" Eighth bend coupling Mueller 110 Conductive Compression Connection for CTS O.D. tubing x swivel nut with female copper thread	each	100	63.70	6,370.00
32	H15076N	3/4" Quarter bend coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x swivel nut with female copper thread	each	150	43.99	6,598.50
33	H15076N	1" Quarter bend coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x swivel nut with female copper thread	each	100	57.16	5,716.00
34	H15008N	3/4" Ground Key Corporation Valve - Inlet: AWWA taper "Mueller CC" thread; Outlet: Mueller 110 Conductive Compression Connection for CTS O.D. tubing	each	250	40.85	10,212.50
35	H15008N	1" Ground Key Corporation Valve - Inlet: AWWA taper "Mueller CC" thread; Outlet: Mueller 110 Conductive Compression Connection for CTS O.D. tubing	each	150	61.85	9,277.50
36	H15071N	3/4" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x female copper flare thread	each	300	21.30	6,390.00
37	H15071N	1" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x female copper flare thread	each	100	31.29	3,129.00
38	H15071N	3/4" x 1" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x female copper flare thread	each	100	25.24	2,524.00
39	H15071N	1" x 3/4" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x female copper flare thread	each	250	28.75	7,187.50
40	H15505N	3/4" Mueller Straight Coupling Female extra strong lead flange thread x copper flare nut; "Ferl Adapter"	each	450	26.01	11,704.50
41	H15505N	1" x 3/4" Mueller Straight Coupling Female extra strong lead flange thread x copper flare nut; "Ferl Adapter"	each	450	42.32	19,044.00
42	H15192N	1" Mueller Mark II Oriseal Curb Valve; Inlet: Mueller Insta-tite connection for CTS PE tubing; Outlet: F.I.P/ thread Quarter turn check	each	6	124.94	749.64

Rosita Hovey

Trenton Water Works
Construction & Maintenance Office
Fiscal Year 2022 – Mueller Brass Water Service Fittings Contract

MUELLER BRASS WATER SERVICE FITTINGS BID PROPOSAL (Continued):

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
43	H15505N	3/4" x 1" Mueller Straight Coupling Female extra strong lead flange <u>thread x copper</u> flare nut: "Ferl Adapter"	each	50	42.05	2,132.50
44	H15505N	1" Mueller Straight Coupling Female extra strong lead flange <u>thread x copper</u> flare nut: "Ferl Adapter"	each	50	42.05	2,132.50
45	H15428N	3/4" x 1" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x M.I.P. thread	each	1,300	20.37	26,481.00
46	H15429N	1" Straight coupling - Mueller 110 Conductive Compression Connection for IPS PE pipe x M.I.P. thread	each	100	30.00	3,000.00
47	H15428N	3/4" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x M.I.P. thread	each	200	18.85	39.25
48	H15429N	3/4" Straight coupling - Mueller 110 Conductive Compression Connection for IPS PE pipe x M.I.P. thread	each	175	22.90	4,018.00
49	H15428N	1" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x M.I.P. thread	each	200	22.10	4,420.00
50	H15013N	2" Corporation Valve - Mueller Ori-Corp; Inlet: AWWA taper (Mueller "CC") thread; Outlet: Mueller 110 Conductive Compression Connection for CTS O.D. tubing	each	16	301.95	4,831.20
51	H15428N	2" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x M.I.P. thread	each	16	89.70	1,435.20
52	H10283N	2" Mueller Mark II Oriseal Curb Valve F.I.P. thread - both ends; Quarter turn check	each	16	310.79	5,452.01
53	H15013N	1-1/2" Corporation Valve - Mueller Ori-Corp; Inlet: AWWA taper (Mueller "CC") thread; Outlet: Mueller 110 Conductive Compression Connection for CTS O.D. tubing	each	16	182.54	2,920.64
54	H15428N	1-1/2" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x M.I.P. thread	each	30	61.57	1,847.10
55	H10283N	1-1/2" Mueller Mark II Oriseal Curb Valve F.I.P. thread - both ends; Quarter turn check	each	16	209.73	3,355.68
56	H15505N	2" Mueller Straight Coupling Female extra strong lead flange <u>thread x copper</u> flare nut: "Ferl Adapter"	each	8	238.02	1,904.16
57	H15505N	1-1/2" Mueller Straight Coupling Female extra strong lead flange <u>thread x copper</u> flare nut: "Ferl Adapter"	each	8	227.86	1,822.88
58	H-15071N	2" Straight Coupling: Mueller 110 Conductive Compression Connection for CTS O.D. tubing x female copper flare thread	each	8	95.83	766.64
59	H-15071N	1-1/2" Straight Coupling: Mueller 110 Conductive Compression Connection for CTS O.D. tubing x female copper flare thread	each	20	85.05	1,713.00
60	H-682332N	3/4" Compression to Flare Push-in-Bushing	each	175	7.30	1,277.50
61	H-682333N	1" Compression to Flare Push-in-Bushing	each	150	8.07	1,210.50
62	H-15403N	3/4" CTS x 3/4" CTS Straight three part union Mueller Pack Joint Connection for CTS O.D. tubing - both ends	each	200	22.05	4,530.00
63	H-15403N	1" CTS x 1" CTS Straight three part union Mueller Pack Joint Connection for CTS O.D. tubing - both ends	each	100	24.71	2,471.00
64	H-15403N	3/4" CTS x 1" CTS Straight three part union Mueller Pack Joint Connection for CTS O.D. tubing - both ends	each	100	22.05	2,205.00
65	H-15404N	3/4" IP x 3/4" IP Straight Coupling Mueller Pack Joint Connection for IPS PE pipe - both ends	each	6	31.00	186.00

Ronald Hump

Trenton Water Works
Construction & Maintenance Office
Fiscal Year 2022 – Mueller Brass Water Service Fittings Contract

MUELLER BRASS WATER SERVICE FITTINGS BID PROPOSAL (Continued):

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
66	H-15404N	1" IP x 1" IP Straight Coupling Mueller Pack Joint Connection for IPS PE pipe - both ends	each	6	56.21	337.20
67	H-15404N	3/4" IP x 1" IP Straight Coupling Mueller Pack Joint Connection for IPS PE pipe - both ends	each	6	31.00	180.00
68	H-15443N	3/4" IP x 3/4" CTS Straight Coupling Mueller Pack Joint Connection for IPS PE pipe x Pack Joint Connection for CTS O.S. tubing	each	40	29.22	1,168.80
69	H-15443N	1" IP x 3/4" CTS Straight Coupling Mueller Pack Joint Connection for IPS PE pipe x Pack Joint Connection for CTS O.S. tubing	each	20	59.80	1,196.00
70	H-15443N	3/4" IP x 1" CTS Straight Coupling Mueller Pack Joint Connection for IPS PE pipe x Pack Joint Connection for CTS O.S. tubing	each	20	29.22	584.40
71	H-15443N	1" IP x 1" CTS Straight Coupling Mueller Pack Joint Connection for IPS PE pipe x Pack Joint Connection for CTS O.S. tubing	each	20	38.27	765.40
72	H-15403N	1-1/2" CTS x 1-1/2" CTS Straight three part union Mueller Pack Joint Connection for CTS O.D. tubing - both ends	each	24	87.10	2,090.40
73	H-15404N	1-1/2" IP x 1-1/2" IP Straight Coupling Mueller Pack Joint Connection for IPS PE pipe - both ends	each	6	114.76	688.56
74	H-15403N	2" CTS x 2" CTS Straight three part union Mueller Pack Joint Connection for CTS O.D. tubing - both ends	each	24	117.63	2,823.12
75	H-15404N	2" IP x 2" IP Straight Coupling Mueller Pack Joint Connection for IPS PE pipe - both ends	each	6	204.75	1,228.50
76	DR250447 CC075	4" x 3/4" (4.47"- 5.32") Mueller Service Saddle with Double stainless steel strap	each	12	55.60	667.20
77	DR250447 CC100	4" x 1" (4.47"- 5.32") Mueller Service Saddle with Double stainless steel strap	each	12	55.60	667.20
78	DR250659 CC075	6" x 3/4" (6.59"- 7.37") Mueller Service Saddle with Double stainless steel strap	each	12	63.86	766.32
79	DR250659 CC100	6" x 1" (6.59"- 7.37") Mueller Service Saddle with Double stainless steel strap	each	12	63.86	766.32
80	DR250854 CC075	8" x 3/4" (8.54"- 9.79") Mueller Service Saddle with Double stainless steel strap	each	12	75.45	905.40
81	DR250854 CC100	8" x 1" (8.54"- 9.79") Mueller Service Saddle with Double stainless steel strap	each	12	75.45	905.40
82	DR251064 CC075	10" x 3/4" (10.64"- 12.12") Mueller Service Saddle with Double stainless steel strap	each	12	89.68	1,076.16
83	DR251064 CC100	10" x 1" (10.64"- 12.12") Mueller Service Saddle with Double stainless steel strap	each	12	89.68	1,076.16
84	DR251262 CC075	12" x 3/4" (12.62"- 14.38") Mueller Service Saddle with Double stainless steel strap	each	12	104.38	1,252.56
85	DR251262 CC100	12" x 1" (12.62"- 14.38") Mueller Service Saddle with Double stainless steel strap	each	12	104.38	1,252.56
86	DR251740 CC075	16" x 3/4" (17.40"- 18.80") Mueller Service Saddle with Double stainless steel strap	each	12	143.04	1,716.48
87	DR251740 CC100	16" x 1" (17.40"- 18.80") Mueller Service Saddle with Double stainless steel strap	each	12	143.04	1,716.48

Grand Total >> 329,291.60

Ferguson

(2)

Trenton Water Works
Construction & Maintenance Office
Fiscal Year 2022 - Mueller Brass Water Service Fittings Contract

PROPOSAL:

The undersigned proposes to furnish and deliver Mueller Brass Water Service Fittings materials in the requested quantities as needed (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Cortland Street Yard at 333 Cortland Street, Trenton NJ. No Substitute.

MUELLER BRASS WATER SERVICE FITTINGS BID PROPOSAL:

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
1	H10283N	3/4" Mueller Mark II Oriseal Curb Valve F.I.P. thread - both ends; Quarter turn check	each	10	65.00	650.00
2	H10283N	1" Mueller Mark II Oriseal Curb Valve F.I.P. thread - both ends; Quarter turn check	each	800	110.00	88,000.00
3	H15406N	1" Straight Union - Mueller Insta-tite Connection for CTS O.D. PE tubing-both ends	each	40	26.50	1,060.00
4	H15406N	3/4" Straight Union - Mueller Insta-tite Connection for CTS O.D. PE tubing-both ends	each	10	23.00	230.00
5	Brass	3/4" x 3" Brass nipple	each	25	3.60	90.00
6	Brass	3/4" x 4" Brass nipple	each	25	4.75	118.75
7	Brass	3/4" x 5" Brass nipple	each	10	5.30	53.00
8	Brass	3/4" x 6" Brass nipple	each	10	6.45	64.50
9	Brass	1" x 3" Brass nipple	each	25	5.25	131.25
10	Brass	1" x 4" Brass nipple	each	25	6.90	172.50
11	Brass	1" x 5" Brass nipple	each	25	8.50	212.50
12	Brass	1" x 6" Brass nipple	each	20	9.40	188.00
13	Brass	3/4" Brass Street 90°	each	60	5.25	315.00
14	Brass	1" Brass Street 90°	each	100	8.80	880.00
15	Brass	3/4" Brass Street 45°	each	10	5.05	50.50
16	Brass	1" Brass Street 45°	each	15	8.50	127.50
17	Brass	3/4" Brass Elbow 90°	each	25	4.20	105.00
18	Brass	1" Brass Elbow 90°	each	15	6.05	90.75
19	Brass	3/4" Brass Elbow 45°	each	6	3.89	23.34
20	Brass	1" Brass Elbow 45°	each	6	6.56	39.36
21	Brass	3/4" Brass coupling	each	25	3.40	85.00
22	Brass	1" Brass coupling	each	50	5.20	260.00

Ferguson

Trenton Water Works
Construction & Maintenance Office
Fiscal Year 2022 - Mueller Brass Water Service Fittings Contract

MUELLER BRASS WATER SERVICE FITTINGS BID PROPOSAL (Continued):

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
23	Brass	1-1/2" X 1" Brass Couplings	each	5	12.75	63.75
24	Brass	1" male X 3/4" female Brass Bushing (Hex Bushings)	each	250	3.40	850.00
25	Brass	1-1/4" female x 2" male Brass Bushing	each	4	10.00	40.00
26	Brass	1-1/2" female x 2" male Brass Bushing	each	5	10.00	50.00
27	Brass	1-1/4" female x 1" female Brass coupling	each	4	10.00	40.00
28	Brass	2" X 1" Brass Bushing	each	4	12.00	48.00
29	Brass	1-1/2" female x 1" female Brass coupling	each	4	12.70	50.80
30	H15075N	3/4" Eighth bend coupling Mueller 110 Conductive Compression Connection for CTS O.D. tubing x swivel nut with female copper thread	each	750	57.40	43,050.00
31	H15075N	1" Eighth bend coupling Mueller 110 Conductive Compression Connection for CTS O.D. tubing x swivel nut with female copper thread	each	100	66.20	6,620.00
32	H15076N	3/4" Quarter bend coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x swivel nut with female copper thread	each	150	43.50	6,525.00
33	H15076N	1" Quarter bend coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x swivel nut with female copper thread	each	100	56.50	5,650.00
34	H15008N	3/4" Ground Key Corporation Valve - Inlet: AWWA taper "Mueller CC" thread; Outlet: Mueller 110 Conductive Compression Connection for CTS O.D. tubing	each	250	40.40	10,100.00
35	H15008N	1" Ground Key Corporation Valve - Inlet: AWWA taper "Mueller CC" thread; Outlet: Mueller 110 Conductive Compression Connection for CTS O.D. tubing	each	150	61.25	9,187.50
36	H15071N	3/4" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x female copper flare thread	each	300	21.10	6,330.00
37	H15071N	1" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x female copper flare thread	each	100	31.00	3,100.00
38	H15071N	3/4" x 1" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x female copper flare thread	each	100	25.50	2,550.00
39	H15071N	1" x 3/4" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x female copper flare thread	each	250	28.50	7,125.00
40	H15505N	3/4" Mueller Straight Coupling Female extra strong lead flange thread x copper flare nut; "Ferl Adapter"	each	450	27.30	12,285.00
41	H15505N	1" x 3/4" Mueller Straight Coupling Female extra strong lead flange thread x copper flare nut; "Ferl Adapter"	each	450	44.00	19,800.00
42	H15192N	1" Mueller Mark II Oriseal Curb Valve; Inlet: Mueller Insta-tite connection for CTS PE tubing; Outlet: F.I.P/ thread Quarter turn check	each	6	122.50	735.00

Ferguson

Trenton Water Works
Construction & Maintenance Office
Fiscal Year 2022 – Mueller Brass Water Service Fittings Contract

MUELLER BRASS WATER SERVICE FITTINGS BID PROPOSAL (Continued):

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
43	H15505N	3/4" x 1" Mueller Straight Coupling Female extra strong lead flange thread x copper flare nut: "Ferl Adapter"	each	50	42.00	2,100.00
44	H15505N	1" Mueller Straight Coupling Female extra strong lead flange thread x copper flare nut: "Ferl Adapter"	each	50	42.00	2,100.00
45	H15428N	3/4" x 1" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x M.I.P. thread	each	1,300	20.20	26,260.00
46	H15429N	1" Straight coupling - Mueller 110 Conductive Compression Connection for IPS PE pipe x M.I.P. thread	each	100	35.70	3,570.00
47	H15428N	3/4" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x M.I.P. thread	each	200	18.70	3,740.00
48	H15429N	3/4" Straight coupling - Mueller 110 Conductive Compression Connection for IPS PE pipe x M.I.P. thread	each	175	22.75	3,991.25
49	H15428N	1" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x M.I.P. thread	each	200	22.00	4,400.00
50	H15013N	2" Corporation Valve - Mueller Ori-Corp; Inlet: AWWA taper (Mueller "CC") thread; Outlet: Mueller 110 Conductive Compression Connection for CTS O.D. tubing	each	16	296.00	4,736.00
51	H15428N	2" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x M.I.P. thread	each	16	88.00	1,408.00
52	H10283N	2" Mueller Mark II Oriseal Curb Valve F.I.P. thread - both ends; Quarter turn check	each	16	334.00	5,344.00
53	H15013N	1-1/2" Corporation Valve - Mueller Ori-Corp; Inlet: AWWA taper (Mueller "CC") thread; Outlet: Mueller 110 Conductive Compression Connection for CTS O.D. tubing	each	16	179.00	2,864.00
54	H15428N	1-1/2" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x M.I.P. thread	each	30	60.50	1,815.00
55	H10283N	1-1/2" Mueller Mark II Oriseal Curb Valve F.I.P. thread - both ends; Quarter turn check	each	16	206.00	3,296.00
56	H15505N	2" Mueller Straight Coupling Female extra strong lead flange thread x copper flare nut: "Ferl Adapter"	each	8	233.50	1,868.00
57	H15505N	1-1/2" Mueller Straight Coupling Female extra strong lead flange thread x copper flare nut: "Ferl Adapter"	each	8	233.50	1,788.00
58	H-15071N	2" Straight Coupling: Mueller 110 Conductive Compression Connection for CTS O.D. tubing x female copper flare thread	each	8	94.00	752.00
59	H-15071N	1-1/2" Straight Coupling: Mueller 110 Conductive Compression Connection for CTS O.D. tubing x female copper flare thread	each	20	84.00	1,680.00
60	H-682332N	3/4" Compression to Flare Push-in-Bushing	each	175	7.50	1,312.50
61	H-682333N	1" Compression to Flare Push-in-Bushing	each	150	9.15	1,222.50
62	H-15403N	3/4" CTS x 3/4" CTS Straight three part union Mueller Pack Joint Connection for CTS O.D. tubing - both ends	each	200	22.65	4,530.00
63	H-15403N	1" CTS x 1" CTS Straight three part union Mueller Pack Joint Connection for CTS O.D. tubing - both ends	each	100	24.75	2,475.00
64	H-15403N	3/4" CTS x 1" CTS Straight three part union Mueller Pack Joint Connection for CTS O.D. tubing - both ends	each	100	22.65	2,265.00
65	H-15404N	3/4" IP x 3/4" IP Straight Coupling Mueller Pack Joint Connection for IPS PE pipe - both ends	each	6	30.90	185.40

Ferguson

Trenton Water Works
Construction & Maintenance Office
Fiscal Year 2022 – Mueller Brass Water Service Fittings Contract

MUELLER BRASS WATER SERVICE FITTINGS BID PROPOSAL (Continued):

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
66	H-15404N	1" IP x 1" IP Straight Coupling Mueller Pack Joint Connection for IPS PE pipe - both ends	each	6	56.00	336.00
67	H-15404N	3/4" IP x 1" IP Straight Coupling Mueller Pack Joint Connection for IPS PE pipe - both ends	each	6	32.00	192.00
68	H-15443N	3/4" IP x 3/4" CTS Straight Coupling Mueller Pack Joint Connection for IPS PE pipe x Pack Joint Connection for CTS O.S. tubing	each	40	31.00	1,240.00
69	H-15443N	1" IP x 3/4" CTS Straight Coupling Mueller Pack Joint Connection for IPS PE pipe x Pack Joint Connection for CTS O.S. tubing	each	20	60.00	1,200.00
70	H-15443N	3/4" IP x 1" CTS Straight Coupling Mueller Pack Joint Connection for IPS PE pipe x Pack Joint Connection for CTS O.S. tubing	each	20	29.50	590.00
71	H-15443N	1" IP x 1" CTS Straight Coupling Mueller Pack Joint Connection for IPS PE pipe x Pack Joint Connection for CTS O.S. tubing	each	20	39.00	780.00
72	H-15403N	1-1/2" CTS x 1-1/2" CTS Straight three part union Mueller Pack Joint Connection for CTS O.D. tubing - both ends	each	24	86.70	2,080.80
73	H-15404N	1-1/2" IP x 1-1/2" IP Straight Coupling Mueller Pack Joint Connection for IPS PE pipe - both ends	each	6	114.20	685.20
74	H-15403N	2" CTS x 2" CTS Straight three part union Mueller Pack Joint Connection for CTS O.D. tubing - both ends	each	24	117.20	2,812.80
75	H-15404N	2" IP x 2" IP Straight Coupling Mueller Pack Joint Connection for IPS PE pipe - both ends	each	6	203.80	1,222.80
76	DR250447 CC075	4" x 3/4" (4.47"- 5.32") Mueller Service Saddle with Double stainless steel strap	each	12	55.00	660.00
77	DR250447 CC100	4" x 1" (4.47"- 5.32") Mueller Service Saddle with Double stainless steel strap	each	12	55.00	660.00
78	DR250659 CC075	6" x 3/4" (6.59"- 7.37") Mueller Service Saddle with Double stainless steel strap	each	12	66.50	798.00
79	DR250659 CC100	6" x 1" (6.59"- 7.37") Mueller Service Saddle with Double stainless steel strap	each	12	66.50	798.00
80	DR250854 CC075	8" x 3/4" (8.54"- 9.79") Mueller Service Saddle with Double stainless steel strap	each	12	78.75	945.00
81	DR250854 CC100	8" x 1" (8.54"- 9.79") Mueller Service Saddle with Double stainless steel strap	each	12	78.75	945.00
82	DR251064 CC075	10" x 3/4" (10.64"- 12.12") Mueller Service Saddle with Double stainless steel strap	each	12	90.50	1,086.00
83	DR251064 CC100	10" x 1" (10.64"- 12.12") Mueller Service Saddle with Double stainless steel strap	each	12	90.50	1,086.00
84	DR251262 CC075	12" x 3/4" (12.62"- 14.38") Mueller Service Saddle with Double stainless steel strap	each	12	109.00	1,308.00
85	DR251262 CC100	12" x 1" (12.62"- 14.38") Mueller Service Saddle with Double stainless steel strap	each	12	109.00	1,308.00
86	DR251740 CC075	16" x 3/4" (17.40"- 18.80") Mueller Service Saddle with Double stainless steel strap	each	12	140.25	1,683.00
87	DR251740 CC100	16" x 1" (17.40"- 18.80") Mueller Service Saddle with Double stainless steel strap	each	12	140.25	1,683.00
Grand Total >>						334,939.19

Brent

Trenton Water Works
Construction & Maintenance Office
Fiscal Year 2022 – Mueller Brass Water Service Fittings Contract

(3)

PROPOSAL:

The undersigned proposes to furnish and deliver Mueller Brass Water Service Fittings materials in the requested quantities as needed (F.O.B. with price for goods including the delivery with no extra freight charge line item) to the Trenton Water Works Cortland Street Yard at 333 Cortland Street, Trenton NJ. No Substitute.

MUELLER BRASS WATER SERVICE FITTINGS BID PROPOSAL:

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
1	H10283N	3/4" Mueller Mark II Oriseal Curb Valve F.I.P. thread - both ends; Quarter turn check	each	10	\$68.50	\$685.00
2	H10283N	1" Mueller Mark II Oriseal Curb Valve F.I.P. thread - both ends; Quarter turn check	each	800	\$115.00	\$92,000.00
3	H15406N	1" Straight Union - Mueller Insta-tite Connection for CTS O.D. PE tubing-both ends	each	40	\$28.25	\$1,130.00
4	H15406N	3/4" Straight Union - Mueller Insta-tite Connection for CTS O.D. PE tubing-both ends	each	10	\$24.50	\$245.00
5	Brass	3/4" x 3" Brass nipple	each	25	\$4.00	\$100.00
6	Brass	3/4" x 4" Brass nipple	each	25	\$5.00	\$125.00
7	Brass	3/4" x 5" Brass nipple	each	10	\$6.00	\$60.00
8	Brass	3/4" x 6" Brass nipple	each	10	\$7.00	\$70.00
9	Brass	1" x 3" Brass nipple	each	25	\$5.50	\$137.50
10	Brass	1" x 4" Brass nipple	each	25	\$7.00	\$175.00
11	Brass	1" x 5" Brass nipple	each	25	\$9.00	\$225.00
12	Brass	1" x 6" Brass nipple	each	20	\$10.50	\$210.00
13	Brass	3/4" Brass Street 90°	each	60	\$16.00	\$960.00
14	Brass	1" Brass Street 90°	each	100	\$26.00	\$2,600.00
15	Brass	3/4" Brass Street 45°	each	10	\$20.00	\$200.00
16	Brass	1" Brass Street 45°	each	15	\$33.50	\$502.50
17	Brass	3/4" Brass Elbow 90°	each	25	\$11.50	\$287.50
18	Brass	1" Brass Elbow 90°	each	15	\$19.00	\$285.00
19	Brass	3/4" Brass Elbow 45°	each	6	\$15.50	\$93.00
20	Brass	1" Brass Elbow 45°	each	6	\$26.00	\$156.00
21	Brass	3/4" Brass coupling	each	25	\$10.50	\$262.50
22	Brass	1" Brass coupling	each	50	\$17.50	\$875.00

Brent
Trenton Water Works
Construction & Maintenance Office
Fiscal Year 2022 – Mueller Brass Water Service Fittings Contract

MUELLER BRASS WATER SERVICE FITTINGS BID PROPOSAL (Continued):

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
23	Brass	1-1/2" X 1" Brass Couplings	each	5	\$50.00	\$250.00
24	Brass	1" male X 3/4" female Brass Bushing (Hex Bushings)	each	250	\$10.00	\$2,500.00
25	Brass	1-1/4" female x 2" male Brass Bushing	each	4	\$32.00	\$128.00
26	Brass	1-1/2" female x 2" male Brass Bushing	each	5	\$32.00	\$160.00
27	Brass	1-1/4" female x 1" female Brass coupling	each	4	\$44.00	\$176.00
28	Brass	2" X 1" Brass Bushing	each	4	\$88.00	\$352.00
29	Brass	1-1/2" female x 1" female Brass coupling	each	4	\$52.00	\$208.00
30	H15075N	3/4" Eighth bend coupling Mueller 110 Conductive Compression Connection for CTS O.D. tubing x swivel nut with female copper thread	each	750	\$54.00	\$40,500.00
31	H15075N	1" Eighth bend coupling Mueller 110 Conductive Compression Connection for CTS O.D. tubing x swivel nut with female copper thread	each	100	\$64.00	\$6,400.00
32	H15076N	3/4" Quarter bend coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x swivel nut with female copper thread	each	150	\$46.50	\$6,975.00
33	H15076N	1" Quarter bend coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x swivel nut with female copper thread	each	100	\$60.50	\$6,050.00
34	H15008N	3/4" Ground Key Corporation Valve - Inlet: AWWA taper "Mueller CC" thread; Outlet: Mueller 110 Conductive Compression Connection for CTS O.D. tubing	each	250	\$43.00	\$10,750.00
35	H15008N	1" Ground Key Corporation Valve - Inlet: AWWA taper "Mueller CC" thread; Outlet: Mueller 110 Conductive Compression Connection for CTS O.D. tubing	each	150	\$65.50	\$9,825.00
36	H15071N	3/4" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x female copper flare thread	each	300	\$22.50	\$6,750.00
37	H15071N	1" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x female copper flare thread	each	100	\$33.00	\$3,300.00
38	H15071N	3/4" x 1" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x female copper flare thread	each	100	\$26.50	\$2,650.00
39	H15071N	1" x 3/4" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x female copper flare thread	each	250	\$30.50	\$7,625.00
40	H15505N	3/4" Mueller Straight Coupling Female extra strong lead flange thread x copper flare nut; "Ferl Adapter"	each	450	\$26.00	\$11,700.00
41	H15505N	1" x 3/4" Mueller Straight Coupling Female extra strong lead flange thread x copper flare nut; "Ferl Adapter"	each	450	\$42.00	\$18,900.00
42	H15192N	1" Mueller Mark II Oriseal Curb Valve; Inlet: Mueller Insta-tite connection for CTS PE tubing; Outlet: F.I.P/ thread Quarter turn check	each	6	\$131.00	\$786.00

Brent
Trenton Water Works
Construction & Maintenance Office
Fiscal Year 2022 – Mueller Brass Water Service Fittings Contract

MUELLER BRASS WATER SERVICE FITTINGS BID PROPOSAL (Continued):

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
43	H15505N	3/4" x 1" Mueller Straight Coupling Female extra strong lead flange thread x copper flare nut; "Ferl Adapter"	each	50	\$45.00	\$2,250.00
44	H15505N	1" Mueller Straight Coupling Female extra strong lead flange thread x copper flare nut; "Ferl Adapter"	each	50	\$45.00	\$2,250.00
45	H15428N	3/4" x 1" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x M.I.P. thread	each	1,300	\$21.50	\$27,950.00
46	H15429N	1" Straight coupling - Mueller 110 Conductive Compression Connection for IPS PE pipe x M.I.P. thread	each	100	\$38.25	\$3,825.00
47	H15428N	3/4" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x M.I.P. thread	each	200	\$20.00	\$4,000.00
48	H15429N	3/4" Straight coupling - Mueller 110 Conductive Compression Connection for IPS PE pipe x M.I.P. thread	each	175	\$24.50	\$4,287.50
49	H15428N	1" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x M.I.P. thread	each	200	\$23.50	\$4,700.00
50	H15013N	2" Corporation Valve - Mueller Ori-Corp; Inlet: AWWA taper (Mueller "CC") thread; Outlet: Mueller 110 Conductive Compression Connection for CTS O.D. tubing	each	16	\$315.00	\$5,040.00
51	H15428N	2" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x M.I.P. thread	each	16	\$95.00	\$1,520.00
52	H10283N	2" Mueller Mark II Oriseal Curb Valve F.I.P. thread - both ends; Quarter turn check	each	16	\$355.00	\$5,680.00
53	H15013N	1-1/2" Corporation Valve - Mueller Ori-Corp; Inlet: AWWA taper (Mueller "CC") thread; Outlet: Mueller 110 Conductive Compression Connection for CTS O.D. tubing	each	16	\$192.00	\$3,072.00
54	H15428N	1-1/2" Straight coupling - Mueller 110 Conductive Compression Connection for CTS O.D. tubing x M.I.P. thread	each	30	\$65.00	\$1,950.00
55	H10283N	1-1/2" Mueller Mark II Oriseal Curb Valve F.I.P. thread - both ends; Quarter turn check	each	16	\$220.00	\$3,520.00
56	H15505N	2" Mueller Straight Coupling Female extra strong lead flange thread x copper flare nut; "Ferl Adapter"	each	8	\$250.00	\$2,000.00
57	H15505N	1-1/2" Mueller Straight Coupling Female extra strong lead flange thread x copper flare nut; "Ferl Adapter"	each	8	\$340.00	\$2720.00
58	H-15071N	2" Straight Coupling: Mueller 110 Conductive Compression Connection for CTS O.D. tubing x female copper flare thread	each	8	\$100.00	\$800.00
59	H-15071N	1-1/2" Straight Coupling: Mueller 110 Conductive Compression Connection for CTS O.D. tubing x female copper flare thread	each	20	\$90.25	\$1805.00
60	H-682332N	3/4" Compression to Flare Push-in-Bushing	each	175	\$7.75	\$1356.25
61	H-682333N	1" Compression to Flare Push-in-Bushing	each	150	\$8.50	\$1275.00
62	H-15403N	3/4" CTS x 3/4" CTS Straight three part union Mueller Pack Joint Connection for CTS O.D. tubing - both ends	each	200	\$24.50	\$4,900.00
63	H-15403N	1" CTS x 1" CTS Straight three part union Mueller Pack Joint Connection for CTS O.D. tubing - both ends	each	100	\$26.50	\$2,650.00
64	H-15403N	3/4" CTS x 1" CTS Straight three part union Mueller Pack Joint Connection for CTS O.D. tubing - both ends	each	100	\$24.25	\$2425.00
65	H-15404N	3/4" IP x 3/4" IP Straight Coupling Mueller Pack Joint Connection for IPS PE pipe - both ends	each	6	\$33.00	\$198.00

Brent
Trenton Water Works
Construction & Maintenance Office
Fiscal Year 2022 – Mueller Brass Water Service Fittings Contract

MUELLER BRASS WATER SERVICE FITTINGS BID PROPOSAL (Continued):

Item #	Catalog #	Material Description	Unit	Qty	Unit Price	Total Price
66	H-15404N	1" IP x 1" IP Straight Coupling Mueller Pack Joint Connection for IPS PE pipe - both ends	each	6	\$60.00	\$360.00
67	H-15404N	3/4" IP x 1" IP Straight Coupling Mueller Pack Joint Connection for IPS PE pipe - both ends	each	6	\$33.00	\$198.00
68	H-15443N	3/4" IP x 3/4" CTS Straight Coupling Mueller Pack Joint Connection for IPS PE pipe x Pack Joint Connection for CTS O.S. tubing	each	40	\$31.25	\$1,250.00
69	H-15443N	1" IP x 3/4" CTS Straight Coupling Mueller Pack Joint Connection for IPS PE pipe x Pack Joint Connection for CTS O.S. tubing	each	20	\$64.00	\$1280.00
70	H-15443N	3/4" IP x 1" CTS Straight Coupling Mueller Pack Joint Connection for IPS PE pipe x Pack Joint Connection for CTS O.S. tubing	each	20	\$31.25	\$625.00
71	H-15443N	1" IP x 1" CTS Straight Coupling Mueller Pack Joint Connection for IPS PE pipe x Pack Joint Connection for CTS O.S. tubing	each	20	\$41.00	\$820.00
72	H-15403N	1-1/2" CTS x 1-1/2" CTS Straight three part union Mueller Pack Joint Connection for CTS O.D. tubing - both ends	each	24	\$93.00	\$2,232.00
73	H-15404N	1-1/2" IP x 1-1/2" IP Straight Coupling Mueller Pack Joint Connection for IPS PE pipe - both ends	each	6	\$122.00	\$732.00
74	H-15403N	2" CTS x 2" CTS Straight three part union Mueller Pack Joint Connection for CTS O.D. tubing - both ends	each	24	\$125.00	\$3,000.00
75	H-15404N	2" IP x 2" IP Straight Coupling Mueller Pack Joint Connection for IPS PE pipe - both ends	each	6	\$220.00	\$1,320.00
76	DR250447 CC075	4" x 3/4" (4.47"- 5.32") Mueller Service Saddle with Double stainless steel strap	each	12	\$60.00	\$720.00
77	DR250447 CC100	4" x 1" (4.47"- 5.32") Mueller Service Saddle with Double stainless steel strap	each	12	\$60.00	\$720.00
78	DR250659 CC075	6" x 3/4" (6.59"- 7.37") Mueller Service Saddle with Double stainless steel strap	each	12	\$70.00	\$840.00
79	DR250659 CC100	6" x 1" (6.59"- 7.37") Mueller Service Saddle with Double stainless steel strap	each	12	\$70.00	\$840.00
80	DR250854 CC075	8" x 3/4" (8.54"- 9.79") Mueller Service Saddle with Double stainless steel strap	each	12	\$82.00	\$984.00
81	DR250854 CC100	8" x 1" (8.54"- 9.79") Mueller Service Saddle with Double stainless steel strap	each	12	\$82.00	\$984.00
82	DR251064 CC075	10" x 3/4" (10.64"- 12.12") Mueller Service Saddle with Double stainless steel strap	each	12	\$98.00	\$1,176.00
83	DR251064 CC100	10" x 1" (10.64"- 12.12") Mueller Service Saddle with Double stainless steel strap	each	12	\$98.00	\$1,176.00
84	DR251262 CC075	12" x 3/4" (12.62"- 14.38") Mueller Service Saddle with Double stainless steel strap	each	12	\$112.00	\$1,344.00
85	DR251262 CC100	12" x 1" (12.62"- 14.38") Mueller Service Saddle with Double stainless steel strap	each	12	\$112.00	\$1,344.00
86	DR251740 CC075	16" x 3/4" (17.40"- 18.80") Mueller Service Saddle with Double stainless steel strap	each	12	\$155.00	\$1860.00
87	DR251740 CC100	16" x 1" (17.40"- 18.80") Mueller Service Saddle with Double stainless steel strap	each	12	\$155.00	\$1860.00
Grand Total >>						\$353,207.75